1) 


The ________ measures the amount of time it takes the firm to recover its initial investment. 

A) 


average rate of return 

B) 


internal rate of return 

C) 


net present value 

D) 


payback period 

Answer:  


2) 


All of the following are weaknesses of the payback period EXCEPT 

A) 


a disregard for cash flows after the payback period. 

B) 


only an implicit consideration of the timing of cash flows. 

C) 


the difficulty of specifying the appropriate payback period. 

D) 


it uses cash flows, not accounting profits. 
3) What is the payback period for Tangshan Mining company's new project if its initial after tax cost is $5,000,000 and it is expected to provide after-tax operating cash inflows of $1,800,000 in year 1, $1,900,000 in year 2, $700,000 in year 3 and $1,800,000 in year 4? 

A) 


4.33 years. 

B) 


3.33 years. 

C) 


2.33 years. 

D) 


None of the above. 

Answer:  


B 

17) 


A firm is evaluating an investment proposal which has an initial investment of $5,000 and cash flows presently valued at $4,000. The net present value of the investment is ________. 

A) 


-$1,000 

B) 


$0 

C) 


$1,000 

D) 


$1.25 

Answer:  


A 

What is the NPV for the following project if its cost of capital is 0 percent and its initial after tax cost is $5,000,000 and it is expected to provide after-tax operating cash inflows of $1,800,000 in year 1, $1,900,000 in year 2, $1,700,000 in year 3 and $1,300,000 in year 4? 

A) 


$1,700,000. 

B) 


$371,764. 

C) 


$137,053. 

D) 


None of the above. 

Answer:  


A 

